CeMES

www.scomes.com

MKKG600.06NI

NOT INSULATED FAST RECOVERY DIODE MODULE

Output Current 600 A T
Blocking Voltage 600 V J_} N
L ]
Vrrm Vrsm Vour PIN Features
™ v ™ * Short recovery time
600 700 190  [MKK600.06 NI o

Applications

+ Antiparallel diode for high frequency switching devices

* Free-wheeling diode in converters or motor controllers

* Uninterruptible power supplies (UPS)

+ Ultrasonic cleaners and welders

Diodes characteristics Conditions Tj [°C] Value
IFav) Average forward current Tc=92°C 300 A
IFrRM Repetitive forward current, max Square wave, 20 kHz 500 A
IRRM Max repetitive peak reverse current V = VRrm 170 4 mA
VF(TO) Threshold voltage 170 0,7V
re Forward slope resistance 170 1,04 mQ
VFMm Peak forward voltage, max I =300 A 170 1,20 V
IFsm Surge forward current Half sine wave, 10 ms 25 2300 A
12t Max I?t for fusing 25 26450 A%s
Cr Junction capacitance, typ V = VRrm 25 140 pF
Q Reverse recovery charge, typ Ir=100 A 3000 nC
e Reverse recovery current, typ Vg =200V 125 28 A
ter Reverse recovery time, typ dlg/dt=200 A/ ps 225 ns
Tjmax Operating junction temperature -40/150 °C
Rth(j-c) Thermal resistance (junction to case) 0,19 °C/W
Module characteristics Conditions Value
lout Output current (center tap connection) Tc=92°C 600 A
Rth(c-h) Thermal resistance (case to heatsink) Mounting surface flat, smooth and greased 0,150 °C/W
Tstg Max storage temperature 150 °C
w Weight 117 g
M1 Mounting torque, * 15 % 35 N'm
48 Ib-inch
M2 Terminal connection torque, + 15 % 40 N'm
35 Ib-inch




SCeMES

MKK600.06NI

Awverage power loss vs average forward current

500 4
450 4
400 4 05

350 4
92

[
o
=

] 1D

0.05

P [W]

150 00
100

Parameter:

a0 square wave duty cycle (D)

0 50 100 160 200 250 300 380
leiawy [A]

lrav; [Al

Forward currentvs case temperature

300 -

DCc
250

200 - D=05
150 -
100

50 4

0

B0 90 400 110 120 130 440 150 160 170 480
Tc [°C]

Theumal impedance (-c) per dicde
0 340 .

0.300 ~

0200 T

Zth{j-¢) [*

0.1580 H

0100 | i
0.001 0.01 01 1

1[s]

IFSM [A]

Surge current vs number of current cycles
annn

2600 ne2mc

2200

AN
\sn HZ
1800
1400 50 HZ\\

1000 \\
%

600

200 | |
1 10 100
number of cycles

Reverse recovery time vs dig/dt - typical

Ti=125°C
le =100 A
Vs =200V

tr [ns]

JET—.
o o
[=T=1
L L

140

120

100
100 1000

dinfdt [A pe]

Qr [nC]

Rewverse ecovery chiarge vs digddl - Lypical
6000

Ti=125°C
cgpp | k=104 L~
Vg = 200V /

4000 /
3000 /__,..-—
2000
1000

n

100 1000

di.Jdt [A ] ps]




SCeMES

22

30

22

30

135

30

o ~
™|
+) '
1 |
1
1 L)
Q ©@ © @
22.5 35 22.5
80
92
) ™)
—~ m‘
yA P M
1 — —
t
1 L)
© @ |©
1 -
22.5 35 22.5
80
92
\’{_\;\ ﬂ—\;\; V"U‘
T - r:;r
1 L)
ol ©@ ®
= ==
22.5 35 22.5
80
92
Power fix:

SS=Screw (M6 or M5)
MM=Bolt (M6 or M5)

(dimensions in mm)

MKK600.06NI

Cu Base: 3x30x92

Fig.1

Fig.2

Fig.3

MKK600.06NI-SS6-FIX5-HP-P80-TA
Code:940006000059
MKK600.06NI-SS5-FIX5-HP-P80-TA
Code:940006000057

MKK600.06NI-MM6x10-FIX5-HP-P80-TA
Code:940006000049
MKK600.06NI-MM5x10-FIX5-HP-P80-TA
Code:940006000041

MKK600.06NI-MM6x10-FIX5-LP-P80-TA
Code:940006000051
MKK600.06NI-MM5x10-FIX5-LP-P80-TA
Code:940006000043

Mounting fix: Profile:
FIX= @5,5 HP=High Profile LP=Low Profile



SCeMES

13,5 15

30

SS=Screw (M6 or M5)
MM=Bolt (M6 or M5)

v 45 0 7 By
1 Fi‘[
(1 L
s 0l © © o
== ==
22.5 35 22.5
80
92
(1 L
Q © © @
== ==
22.5 35 22.5
80
92
Power fix:

MKK600.06NI

(dimensions in mm)

Cu Base: 3x30x92

Fig.4 MKK600.06NI-MM6x15-FIX5-HP-P80-TA
Code:940006000053
MKK600.06NI-MM5x15-FIX5-HP-P80-TA
Code:940006000045

Fig.5 MKK600.06NI-MM6x15-FIX5-LP-P80-TA
Code:940006000055
MKK600.06NI-MM5x15-FIX5-LP-P80-TA
Code:940006000047

Mounting fix: Profile:
FIX= @5,5 HP=High Profile LP=Low Profile



205

SCeMES

10,

20,5

30

12510

Q‘
'
L

MKK600.06NI

(dimensions in mm)

Cu Base: 1.5x30x92

f Fig.6 MKK600.06NI-SS6-FIX5-HP-P80-TA

30

Code:940006000058
3 © MKK600.06NI-SS5-FIX5-HP-P80-TA
Code:940006000056
22.5 35 22.5
80
92 |
4 g; Fig.7 MKK600.06NI-MM6x10-FIX5-HP-P80-TA
| Code:940006000048
MKK600.06NI-MM5x10-FIX5-HP-P80-TA
Q) © © |@ Code:940006000040
1 [
22.5 35 22.5
80
92
Fig.8 MKK600.06NI-MM6x10-FIX5-LP-P80-TA
— — Code:940006000050
@ ©) © @ MKK600.06NI-MM5x10-FIX5-LP-P80-TA
Code:940006000042

22.5

35

22.5

80

92

Power fix:
SS=Screw (M6 or M5)
MM=Bolt (M6 or M5)

Mounting fix: Profile:
FIX= @5,5 HP=High Profile LP=Low Profile



SCOMES (dimensions in mm) MKK600.06NI
Cu Base: 1.5x30x92

N ’A = gj; Fig.9 MKK600.06NI-MM6x15-FIX5-HP-P80-TA
— L Code:940006000052
2 O o @) T MKK600.06NI-MM5x15-FIX5-HP-P80-TA
9 Q Q Q: Code:940006000044
1 []
22.5 35 22.5
80
92
é? — = 5 @~ — é"
* | Fig.10 MKK600.06NI-MM6x15-FIX5-LP-P80-TA
— [— Code:940006000054
2 © © MKK600.06NI-MM5x15-FIX5-LP-P80-TA
Code:940006000046
22.5 35 22.5
80
92
Power fix: Mounting fix: Profile:
SS=Screw (M6 or M5) FIX= @5,5 HP=High Profile LP=Low Profile

MM=Bolt (M6 or M5)

Scomes srl reserves the right to change any specification without notice

issue;jul-2015
S.CO.M.E.S. srl Via Enrico Mattei,6/8 26823 Castiglione d'Adda(LO)-IT
Phone:+39 0377 901243 Fax:+39 0377 900206 Pg.6



